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DEO MAIN - 2023 

PROFIT AND LOSS WORK SHEET  
 

1. The amount for which an article is bought is called its cost price (C.P). 
ve;j tpiyf;F xU nghUs; thq;fg;gLfpd;wNjh mjid mlf;f tpiy vd 
miog;gu; 

 
2. The amount for which an article is sold is called its selling price (C.P) 

ve;j tpiyf;F xU nghUs; tpw;gid nra;ag;gLfpd;wNjh mjid tpw;gid 
tpiy vd miog;gh;  

 
3. If S.P > C.P, then there is profit or gain  

 Profit = S.P – C.P 

 Profit % = 100%
Profit

C.P
 

S.P > C.P vdpy; mq;F yhgk; my;yJ Mjhak; ,Uf;Fk; 
yhgk; = S.P – C. P 

yhgk; % 100
.C P

= 
yhgk;

 

 
4. If S.P < C.P, then there is a loss  

 Loss = C.P – S.P 

 Loss % =  100%
Loos

C.P
 

S.P < C.P vdpy mq;F el;lk; ,Uf;Fk; 
el;lk; = C. P - S.P 

el;lk; % 100
.C P

= 
el; lk;

 

 

5. S.P = CP
100 + Profit

100
 

S.P .
100

C P
+

= 
100 yhgk;

 

 

6. S.P = CP
100 - Loos

100
 

S.P .
100

C P= 
100 - el; lk;

 

 
7. SP = Marked Price – Discount 

S.P = Fwpf;fg;gl;l tpiy – js;@gb 
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8.  Total CP = CP + Over head Expenses 
nkhj;j C.P = C.P + Nky;epiy nryTfs; 

 
9.  A man buys x tables for Rs. y and sells w tables for Rs. z, then % Profit =  

1 100%
 

−  
 

xz

wy
 

xU kdpjd; x Nki[fis & y-f;F thq;fp w Nki[fis & z-f;F tpw;gid 

nra;fpd;whu; vdpy; yhgk; 1 100
xz

wy

 
−  

 
 

msT C.P / S.P 
 

 

10. If the CP x articles equals the SP of w articles, then % Profit = 100%
x - w

w
 

x nghUl;fspd; CP> w nghUl;fspd; SP-f;F rkk; vdpy; % yhgk; = 100%
x w

w

−
   

 
1. A shopkeeper buys a toy for Rs. 250 and sells it for Rs. 285. Find his gain and 

gain Percent 
xU filf;fhuh; xU nghk;ikia &.250-f;F thq;fp &. 285-f;F tpw;gid 
nra;fpd;whu;. mtupd; yhgj;ijAk;> yhg rjtPjj;ijAk; fhz;f? 

 
2. Ram bought a wrist watch for Rs. 2200 and sold it for Rs. 1980. Find his loss 

and loss percent. 
uhk; &. 2200-f;F xU if fbfhuj;ij thq;fp &.1980-f;F tpw;gid nra;fpd;whu;. 
mtupd; el;ljijAk;> el;l rjtPj;ijAk; fhz;f? 

 

3. If the SP of a LED Tv is equal to 
5

4
 of its C.P, then find the Profit Precent. 

xU LED njhiyf;fhl;rp ngl;bapd; SP mjd; CP-d; 
5

4
 klq;fpw;f;F rkk; vdpy; 

yhg rjtPjk; fhz;f 
 

4.  By selling bicycle for Rs. 4275, a shopkeeper losses 5%. For how much should 
he sell it to have a profit of 5%? 
xU kpjptz;bia &. 4275-f;F tpw;gjpdhy; xU filf;fhuh; 5% el;lk; 
milfpd;whu;. ve;j tpiyf;F tpw;gid nra;jpUe;jhy; mth; 5% yhgk; 
ngw;wpUg;ghu;. 

 
5.  Ram bought a washing machine for Rs. 16150 and Paid Rs 1300 for its 

transportation. The he sold it for Rs. 19250. Find his gain or loss % 
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uhk; xU Jzp Jitf;Fk; ,ae;jpuj;ij &. 16150 nfhLj;J thq;Ffpd;whu; 
kw;Wk; mjd; Nghf;F tuj;jpw;F &. 1300 nrYj;Jfpd;whu;. gpd;G mtu; mjid 
& 19>250-f;F tpw;gid nra;fpd;whh; mtupd; yhgk; my;yJ el;l % fhz;f?  

 
6.  A Per-owned can was bought for Rs. 240000. On repairs Rs. 15000 was spent, 

Rs. 8500 was for its nuisance. Then was sold for Rs. 258230.What is the gain %? 
Kd;G nrhe;jkhd xU fhu; &.240>000-f;F thq;fg;gLfpd;wJ. gOJghh;f &. 15000 
nrytplg;gLfpd;wJ. &. 8500 fhg;gPbw;fhf nrytplg;gLfpd;wJ gpd;G &.258230-f;F 
tpw;gid nra;ag;gLfpd;wJ yhg % vd;d? 

 

7. The cost price of 16 boxes of strawberries is equal to the selling price of 20 
boxes of strawberries. Find the gain or loss percentage. 
16 ];luhngup gok; ngl;bfspd; mlf;f tpiy 20 ];luhngup gog; ngl;bfspd; 
tpw;gid tpiyf;F rkk;. yhgk; my;yJ el;l rjtpjk; fhz;f. 

 

8. The CP of 18 mangoes is the same as the SP of 16 mangoes. Find the gain %  
18 khk;goq;fspd; CP-Ak; 16 khk;goq;fspd; SP-Ak; xd;Nw yhg % fhz;f 

 

9. A girl buys lemons at 4 for Rs. 3 and sells them at 5 for Rs. 4 How much 
percent loss or gain does she make. 
xU rpWkp vYkpr;irg;goq;fis 4> &. 3 vd thq;fp 5 &. 4 vd tpw;gid 
nra;fpd;whs;. mts; ngw;w yhg my;yJ el;l rjtPjk; fhz;f. 

 

10. A Woman bought some eggs at the rate of 4 eggs for Rs. 18 and sold at the rate 
5 eggs for Rs. 24 she gained Rs. 90 in selling all the eggs. How many eggs did 
she buys? 
xU ngz; rpy Kl;ilfis 4 Kl;ilfs; &. 18 vd thq;fp 5 Kl;ilfs; &. 
24 vd tpw;gid nra;tjpdhy; &. 90 yhgk; ngWfpd;whs;. vj;jid Kl;ilfis 
mts; thq;fpdhs;. 
 

11. A Person sells an article for Rs. 550, gaining 
1

10
of its C.P. Find gain % 

xU egu; xU nghUis &. 550-f;F tpw;gid nra;fpd;whh;> mjd; CP-d; 
1

10
 

yhgk; ngWfpd;whu; yhg % fhz;f 
 

12. 200 kg of sugar was purchased at the rate of Rs.15 per kg and sold at a profit of 
5% compute the profit and SP per kg. 
200 fpNyh rf;fiu> fpNyh &. 15 vDk; tpiyapy; thq;fg;gLfpd;wJ. gpd;G 5% 
yhgj;jpy;> tpw;gid nra;ag;gLfpd;wJ. xU fpNyhtpw;fhd yhgj;ijAk; tpw;gid 
tpiyiaAk; fhz;f.  

 

13. A man sold two articles at Rs.25920 each. There were sold at 8% gain and 4% 
loss respectively. Find the gain or loss % in the whole transaction. 
xU kdpjd; ,uz;L nghUl;fis xd;nthd;iwAk; &. 25920-f;F tpw;gid 
nra;fpd;whu;. mit 8% yhgj;jpw;Fk; 4% el;lj;jpw;Fk; tpw;gid 
nra;ag;gLfpd;wJ. nkhj;j guptu;j;jidapy; yhgk; my;yJ el;l rjtPjk; fhz;f? 

 

14. By selling a stool for Rs. 67.50, a carpenter loses 10%. How much percent 
would he gain or lose by selling it for Rs. 82.50? 
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xU kur;rhkid (stool) &. 67.50-f;F tpw;gid nra;jjpy; xU jr;rd; 10% 
el;lk; milfpd;whu;. mjid &. 82.50-f;F tpw;gid nra;jhy; mtu; ngWk; KO 
yhgk; my;yJ el;l rjtPjk; vd;d? 

 

15. By reducing the S.P of an article by Rs. 50, a gain of 5% turns into a loss of 5%. 
Find  the original SP of the article? 
xU nghUspd; tpw;gid tpiyia &. 50 Fiwg;gjpdhy;> xU 5% yhgk; 5% 
el;lkhf khWfpd;wJ. mg;nghUspd; cz;ikahd SP fhz;f? 

 

16. A Shopkeeping offers his customers 10% discount and still maker a Profit of 
26% what is the actual cost to him of an article mated Rs. 280? 
xU filf;fhuh; jdJ thbf;ifahsu;fSf;F 10% js;Sgb mspf;fpd;whu;. 
,Ug;gpDk; 26% yhgk; ngWfpd;whu;. &. 280 vdf; Fwpf;fg;gl;l xU nghUSf;F 
mtu; nrytpLk; njhif vt;tsT? 

 

17. A dealer buys an article for Rs. 380. At what Price must he mark it so that after 
allowing a discount of 5%, he still makes a profit of 25 %? 
xU tpahghup nghUis &.380 nfhLj;J thq;fpd;whu;. vd;d tpiyf;F mijf; 
Fwpj;jhy; 5% js;Sgb nra;j gpd;Dk; 25% yhgk; ngWthu;. 

 

18. A tradesman allows a discount of 15% on the written price. How much above 
the CP must he mark his goods to make a profit of 19%? 
xU th;j;jfu; vOjg;gl;l tpiyapy; 15% js;Sgb nra;fpd;whu;. 19% yhgk; ngw 
CP-ia tpl vt;tsT mjpfkhf mtu; jdJ nghUl;fis Fwpf;fNtz;Lk;?  

  

19. A shopkeeper allows a discount of 10% to his customers and still gains 20%. 
find the marked price of an article which costs Rs. 450 to the shopkeeper. 
xU filf;fhuh; jd; thbf;ifahsh;fSf;F 10% js;Sgb je;Jk;> 20% ,yhgk; 
milfpd;whh;. xU nghUspd; cz;ik tpiy & 450 vdpy; mg;nghUspd; 
Fwpj;j tpiyiaf; fhz;f.  

 

20. A trader buys a article for Rs. 1,200 and marks it 30% above the C.P. He then 
sells it after allowing a discount of 20%. Find the profit percent. 
xU tpahghhp xU n 
ghUis &.1>200 thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F Nky; 30% mjpfkhf 
Fwpj;J mjpypUe;J 20% js;Sgb nfhLf;fpwhh;. tpw;w tpiyapd;  yhg rjtPjk; 
vd;d? 
 

21. A man sold two Articles at Rs. 375 each. On the first article, he gains 25% and 
on the other he losses 25%. Find the gain or loss percent in the whole 
transaction. 
xUth; ,U nghUl;fis xt;nthd;iwAk; & 375-f;F tpw;fpd;whh;. Kjy; 
nghUspy; 25% ,yhgKk; kw;nwhd;wpy; 25% el;lk; milfpwhh;. vdpy; nkhj;j 
tpahghuj;jpy; Vw;gl;l ,yhg my;yJ el;l rjtPjj;ij fhzTk;. 


